Tartan

Have a square deal

How to play
1. Two rows with the same letter make up a pair
2. Two columns with the same letter make up a pair
3. Each pair and each 4x4 square must contain all numbers from 1 to 16

Easy
a |16 1 916 10 4
b |11 12 16 7

cj13 7 15 14|15 8 3 11

d 3 4 6|19 1 14
a 14 11 8 |15 5 7
bl1]3 183 9 1|14 4 6 10
c|4 6 12 16
d| 7 5 15| 8 11 13
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Solution

al1l6 2 1 9 10 13 4

6
bl11 12 8 5|2 15 16 7
c|13 7 15 1415 8 3 11
9

d]l]10 3 4 6 1 14 12

al12 14 11 8 |15 5 7 3
b3 183 9 1|14 4 6 10

9 (1216
d|7 16 5 15|18 11 2 13

cl4 6 10 2|1
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